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NEW QUESTION 1
Which two features are provided on the Tasks page of Business Process Workspace?

A. Display Status for Adaptive Case Management (ACM) cases.
B. View human tasks based on the user's permissions and assigned groups and roles.
C. Create personal to-do tasks that are unassociated with a process instance.
D. View who is currently assigned to a task that the current user has completed.

Answer: BC

Explanation: 
 The Tasks page displays tasks for the user based on the user's permissions and assigned groups and roles.
Perform authorized actions on tasks in the worklist, acquire and check out shared tasks, define personal to- do tasks, and define subtasks.
Reference: http://docs.oracle.com/middleware/1213/bpm/bpm-user/bpmug_ws_gt_strt.htm#BPMUG121

NEW QUESTION 2
When automatically generating an ADF form from a human task, the difference between using the "Auto- Generate Task Form" and the "Launch Task Form
Wizard" is that the .

A. "Launch Task Form Wizard" option launches a six-step "BPM Custom Form Wizard" and the "Auto- Generate" option creates the ADF project, task flow, and
ADF form with one key click
B. "Launch Task Form Wizard" option does not create a new ADF project every time it is run
C. "Auto-Generate" option gives you the choice to use an existing ADF page template as the form is being created.
D. "Launch Task Form Wizard" option automatically creates an ADF page template and task flow template

Answer: D

NEW QUESTION 3
Which two statements are correct on the use of business objects in a BPM project? (Choose two.)

A. A business object is defined by a complex data time.
B. Business objects are often defined in WSDL documents.
C. A business object can inherit data and behavior from a parent business object.
D. You can create a business object at either the project level or the process level.

Answer: BC

NEW QUESTION 4
Which statement is true about using a data-first approach in the Web Form Designer?

A. The process must already have an object-based process variable created.
B. The human task must already have an object-based data element defined.
C. A corresponding process data object is automatically created and mapped into and out of the human task.
D. As widgets are dragged onto the form from the palette, the form's underlying XSD is automatically updated.

Answer: C

NEW QUESTION 5
Which two product features might a process analyst use the most in contrast to a process developer? (Choose two.)

A. Process simulation.
B. Business rules.
C. Mediator services.
D. Web Forms.
E. BPM Studio.
F. ADF forms.

Answer: AD

NEW QUESTION 6
Human workflow is implemented as a .

A. component within the BPEL service engine
B. separate Java server running on WebLogic Server
C. service engine within the SOA infrastructure
D. component within the BPMN service engine

Answer: C

NEW QUESTION 7
A task is considered overdue when .

A. there are no more renewals
B. the current date is beyond the due date
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C. the current date is beyond the expiration date
D. the current date is beyond both the expiration date and the due date

Answer: B

Explanation: 
 A task is considered overdue after it is past the specified due date. This date is in addition to the expiration policy. A due date can be specified irrespective of
whether an expiration policy has been specified. The due date enables Oracle BPM Worklist to display a due date, list overdue tasks, highlight overdue tasks in the
inbox, and so on.
Reference: https://lomonzhang.wordpress.com/2010/07/28/the-difference-of-%E2%80%98due-date%E2% 80%99-and-%E2%80%98expiration-
date%E2%80%99in-oracle-human-tasks/

NEW QUESTION 8
Which three options are human task patterns that cause the token to wait in the calling process until the human task is completed? (Choose three.)

A. FYI
B. Initiator
C. Management
D. Manual
E. Group

Answer: BCE

Explanation: 
 Pattern Description

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer-user/app_bpmn_ref_bpmcu.htm#BPMCU87357

NEW QUESTION 9
What determines the life span of the value in a subprocess data object?

A. process
B. task
C. subprocess
D. project

Answer: D

NEW QUESTION 10
Which two statements are true about using Process Player to test a process? (Choose two.)

A. All activities must be implemented for a process before you can run it with Process Player.
B. When you are running a process by using Process Player and it reaches a user task that has an associated form, you must display the form to select the task
outcome.
C. As a process runs in Process Player, the BPMN diagram is animated to show the flow through the model.
D. Before running Process Player, you must map all roles in your process to at least one user or group in your organization.

Answer: BD

NEW QUESTION 10
Which statement is true for a BPMN subprocesses?

A. It has access to the data variables of the main process.
B. Data have to be explicitly passed back and forth between the main process and the subprocess.
C. The subprocess can be reused and called from other processes.
D. The sequence flow inside a subprocess can be diverted and joined to the main flow without going through an end event.
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Answer: C

NEW QUESTION 15
Which two components in a BPM project can be promoted to become a case activity? (Choose two.)

A. Mediator
B. BPEL
C. Human task
D. Business rule
E. BPMN
F. Spring

Answer: CE

Explanation: 
 A case definition contains various case activities that represent the different work that the user can perform in the context of a case. Oracle BPM allows you to
define case activities based on:

a Human Task
a BPMN process

Reference: http://docs.oracle.com/cd/E28280_01/doc.1111/e15176/case_mgmt_bpmpd.htm#BPMPD87410

NEW QUESTION 19
By default, which two tasks participant roles can change the outcome of a task? (Choose two.)

A. Admin
B. Approvers
C. Assignees
D. Creator
E. Owner
F. Reviewer

Answer: CE

Explanation: 
 The task owner can change both the outcome of the task and the assignments.
The assignee can raise questions about the work, by adding comments into the task to communicate to the owner or followers about their progress. For example, if
an assignee cannot complete the task, they can either change the assignee back to the owner, or add a comment into the task while changing the task status to
"need assistance".

NEW QUESTION 23
Which two statements are true about verbal rules and business phrases? (Choose two.)

A. You can create a verbal rule with business phrases as a column in a decision table rule.
B. Derived business phrases are automatically created by using facts, globals, and other information in the rules dictionary.
C. User-defined business phrases can be explicitly authored to augment derived phrases.
D. You can mark a verbal rule as draft in the Rules Editor.

Answer: BC

Explanation: 
 Derived business phrases are automatically created using facts, globals and other information in the dictionary while user-defined phrases can be explicitly
authored to augment derived phrases.
Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer-user/business_rules_bpmcu.htm#BPMCU506

NEW QUESTION 27
Which statement is an unsupported scenario for virtualization through libOVD?

A. Dynamic groups used to determine group membership.
B. Users and groups used for task assignment are stored in a relational database.
C. Users and groups used for task assignment are stored in an external LDAP server or the embedded LDAP server.
D. Users and groups used for task assignment are stored in multiple external LDAP servers.

Answer: C

NEW QUESTION 29
Which is a capability of Web Form rules?

A. altering execution of an unbounded ADF task flow
B. inserting validation rules into an ADF page that a BPM Studio wizard has generated
C. encoding-business policies that can be easily modified by end users at run time
D. populating a dynamic drop-down list by accessing a RESTful service

Answer: D

NEW QUESTION 34
Which two statements are true about running and analyzing simu-lation results? (Choose two.)
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A. You must wait until a simulation run finishes in order to see up-to-date results in charts.
B. During a simulation run, in-flight instances are always allowed to finish before a simulation completes.
C. During a simulation run, cost and time data are automatically collected for all activities, events, and gateways.
D. You can use only Business Process Composer to create and run simulations.
E. The number appearing above the left-most bar atop an activity represents the high water mark for the queue.

Answer: BD

Explanation: 

In Business Process Composer you can only run simulations based on test data you define using Business Process Composer.

NEW QUESTION 37
Which statement is true about the architecture of the business rules component?

A. Facts are vocabulary elements that are used to construct tests and actions for verbal rules.
B. You can use globals to help users modify rules without having to rework the rule logic.
C. Unlike decision tables, if-then rules provide conflict resolution and gap analysis.
D. In the action of a rule, you typically use the Fire RL (Rule Language) verb to invoke inferencing.

Answer: A

NEW QUESTION 40
Which human task pattern is best suited for a single approver scenario where the role is resolved through group membership? (Choose two.)

A. User
B. Group
C. Initiator
D. FYI
E. Management

Answer: A

Explanation: 
 Single Approver: Use this option for a single user to act on a task. If the task is assigned to a role or group with multiple users, then one member must claim the
task and act on it.
Reference: http://docs.oracle.com/cd/E28280_01/user.1111/e15175/bpmug_ws_perform_tasks.htm

NEW QUESTION 44
To assign a global unique identifier (GUID) to a variable, you use a(n) .

A. simple expression
B. XPath expression
C. XSLT transformation
D. call to a JavaScriot function

Answer: B

NEW QUESTION 47
Which statement describes how web forms are built?

A. Technical developers create web forms by using BPM Studio and then business analysts edit them by using BPM Process Composer.
B. Business analysts create web forms by using BPM Process Composer and then technical developers sometimes edit them by using BPM Composer.
C. End users create web forms by using BPM Process Workspace and then technical developers sometimes edit them by using BPM Process Composer.
D. Technical developers create web forms by using BPM Process Composer and then business analysts sometimes edit them by using BPM Studio.

Answer: D

NEW QUESTION 50
Which statement is accurate about providing process analytics in BPM Suite?

A. BPM Suite supports KPI reporting for high-level business architecture models as well as for detailed BPMN process models.
B. The primary focus of measurement and reporting of KPIs is to help operational personnel tune the BMP Suite runtime environment.
C. End users use BPM Composer to review reports showing the results of KPI measurement.
D. To see any populated business process performance dashboard charts, the project team needs to define KPIs in their models.

Answer: A
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NEW QUESTION 51
The process payload, including customer name and order ID, is stored based on a single XSD- based data object and the human tasks in the process use this
XSD definition. End users need to see the customer name and the order ID as columns in their default inbox task list.
Which three approaches best accomplish this requirement? (Choose three.)

A. Either public or protected flex fields can be used to displays the customer name and order ID without having to add additional process payload data objects.
B. Public flex fields can be used if two new simple data elements, representing the customer name and order ID, are added to the human task's list of data objects.
C. Public flex fields can be used if two new simple process payload data objects, representing the customer name and order ID, are first added.
D. Public flex fields can be used only if they have first been created in the workspace and the two have been added as mapped attributes in the human tasks.
E. No changes to the human task's incoming data or data associations are necessary if protected flex fields are used.

Answer: ABE

NEW QUESTION 56
Which two tools can you use to create charts for a dashboard that displays metrics for your BPM project? (Choose two.)

A. BPM Studio
B. BAM Composer
C. BPM Process Composer
D. BPM Process Workspace
E. WebCenter Process Spaces

Answer: BD

NEW QUESTION 61
Which three attributes are unique to adaptive case management-based processes as compared to traditional BPMN-based processes? (Choose three.)

A. The sequence of execution of activities is determined by process participants at run time.
B. They are routine, well-defined, structured processes.
C. New stakeholders, not just task participants, may be added at run time.
D. They are exclusively event-driven.
E. They involve human-centric processing.

Answer: ACD

NEW QUESTION 66
Which three statements are accurate about BAM 12c alerts? (Choose three.)

A. Conditions are optional settings for constraining the time period in which the alert is fired.
B. An action can invoke a web service.
C. Alerts can be created in either BPM Studio or BPM Process Composer.
D. You cannot create alerts that launch other alerts.
E. An event can result when a CQL query receives new data outside a normal range.

Answer: AE

Explanation: 
 Conditions are optional settings for constraining the time period in which the alert is fired. You can select any number and combination of conditions.
When you select the event Select a CQL Query, you must select a continuous query from the pop-up drop- down list. The alert fires when the query receives new
data with values outside of a normal range.

NEW QUESTION 70
Which action enables support for virtualization through libOVD?

A. Update the order of the WebLogic authentication providers to put the LDAP providers first.
B. Use Enterprise Manager or WLST to add the virtualize=true property to the SOA Common Properties MBean.
C. Use Enterprise Manager or WLST to add the virtualize=true property to the domain level Identity Store Configuration.
D. Update the domain directory to include a valid libOVD adapter configuration file under the config/ fmwconfig folder.

Answer: C

NEW QUESTION 71
Which two case elements can have due dates configured? (Choose two.)

A. Case
B. Case data
C. Events
D. Milestones
E. Activities

Answer: AB

NEW QUESTION 73
Which two can be added as members of a static approval group? (Choose two.)

A. Users
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B. Groups
C. Application roles
D. other approval groups
E. WebLogic administrators

Answer: AD

Explanation: 
 Members of a static approval group can be either users or other approval groups.
Reference: http://docs.tpu.ru/docs/oracle/en/fmw/11.1.1.6.0/user.1111/e15175/bpmug_ws_admin.htm

NEW QUESTION 77
Which two statements are correct about business indicators? (Choose two.)

A. They can be captured at measurement marks.
B. Dimensions allow the user to capture numerical values.
C. All business indicators are captured at sampling points and a subset is captured at measurement marks.
D. Counters are used for interval start and interval stop measurements.

Answer: AC

Explanation: 
 A Measure Business Indicator is used to capture something that can be measured.
The BPMN Service Engine automatically stores the data in the dimension business indicators inthe pre- defined and custom sampling points defined for your
process.

NEW QUESTION 79
Which two statements are true about configuring service tasks? (Choose two.)

A. A service task can be configured to invoke a process or service asynchronously.
B. Although you call a file adapter as a service from your BPMN diagram, no linkage between your BPMN process and the external reference appears in the SOA
Composite Editor.
C. You can invoke a BPEL process by using a service task.
D. The implementation of a service task can be either a process call or a service call.

Answer: BC

NEW QUESTION 83
Which two statements are true about BPM Suite product architecture? (Choose two.)

A. The Process Asset Manager is a container of reusable, shared, implementation assets available to all processes within a BPM project.
B. Business architecture modeling is supported by a third-party product that Oracle resells as part of the BPM Suite 12c product family.
C. BPM Suite leverages SOA Suite infrastructure and tooling to support key design-time and run-time features.
D. case Management is an Oracle add-on product to add adaptive case management support to BPM Suite.
E. BPM Suite supports BPMN process modeling notation in both BPM Process Composer and BPM Studio.

Answer: AD

NEW QUESTION 88
Which two statements are true about business indicators used for process analytics?(Choose two.)

A. A counter must be associated with a counter mark in order for the counter to be incremented.
B. Measures specify how process analytics data can be filtered or grouped.
C. If you do not define any businessindicators, no data is captured at a sampling point.
D. Measurement marks are defined on sequence flows and are visible on the model.
E. The dimensions you have defined are visible on the process model.

Answer: AD

NEW QUESTION 90
You are analyzing the different methods available to manage the life cycle of the OWSM policies
in your SOA/BPM environment. Identify two statements that correctly describe OWSM policy attachments. (Choose two.)

A. Although you can boss attach and detachsecurity policies in JDeveloper, you can detach themonly in Enterprise Manager.
B. An application developer typically uses JDeveloper to create new security policies rather thanselect them from a prebuilt list.
C. When you use JDeveloper to associate a security policy with a web service, the policy is notreally attached until application development.
D. OWSM policies can be attached and detached with WLST.

Answer: CD

NEW QUESTION 95
......
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